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=\ 2n(z — 3)"
1. Find the interval of convergence of the power series E : n(z —3) . Answer :
n=1 (n,%'l)'
1 0%
2. Evaluate f ——————dz. Answer : - o
0 (21; —+ 1)2 - R
3. If lim ﬂ-fm)- = 2, find the limit: lim (f(a:) + M) Answer :
-2 T T——2 T

20
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4. Find EEEO—[(Sm 5)(cos 5)] Answer :

5. Find the limit: lim
z—oo L IDT |

/ Intdt. Answer :
1

6. Find an equation of the tangent line to the graph of the function P — i zy—1=0
at (1,1). Answer :

7. What value of a makes f(z) = z* + (a/z) have a point of inflection at z = 17

Answer :

8. We say that the two commodities are substitute commodities if a decrease in the
demand for one results in an increase in the demand for the other. Conversely, two cor_nmodi—
ties are referred to as complementary commodities if a decrease in the demand for one
results in a decrease in the demand for the other as well. Suppose that the demand functions
-—g_a alldy:g(ﬁ:@): £ '
1+ P 14 gt

these two commodities are substitute, complementary, or neither. Answer :

of two commodities are z = f(p, q) = Determine whether
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1 Test the series Z —; for convergence or divergence.
n

n=0

2. Evaluate / / ze¥ dA where R is the plane region bounded by the y-axis, z = 0, the
R

horizontal line y = 4, and the graph of ¥ = z?%.

3. A manufacturer finds that it takes z units of labor and y units of capital to produce
flz,y) = 100z*%** units of product. If a unit of labor costs $100, a unit of capital
costs $200, and $200,000 is budgeted for production, determine how many units should be
expended on labor and how many units should be expended on capital in order to maximize

production.
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